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1. This leader launched a campaign to use the steppe to cultivate grain which was known as the Virgin Lands project. This man worked to have Lavrenty Beria executed and took power from Georgy Malenkov. This leader decried the use of secret police, poor economic policies, and a cult of personality in his Secret Speech. In another speech, this man told the West, “We will bury you.” He allegedly banged his shoe on a desk during a UN meeting. This leader started a foreign policy of peaceful coexistence and a domestic period known as his “thaw.” For 10 points, name this Soviet leader during the Cuban Missile Crisis who oversaw a period of de-Stalinization.
ANSWER: Nikita Sergeyevich Khrushchev
2. For an isothermal process, the change in this quantity is equal to nR (en are) times the natural log of the ratio of volumes. Heat capacity is equal to temperature times the partial derivative of this quantity with respect to temperature.  This quantity can be calculated by finding the natural logs of available microstates, and its change is equal to the change in heat divided by temperature.  It can be defined as the amount of thermal energy in a system that cannot do useful work, and the second law of thermodynamics means that for the universe this is always increasing. For 10 points, name this measurement of disorder in a system.
ANSWER: entropy
3. This architect’s final building, completed after his death, is the Martin Luther King Jr. Library in D.C. Cullinan Hall is one of two additions this architect made to the Caroline Weiss Law Building in Houston. He designed both the building and sculpture gardens for the Neue Nationalgalerie in Berlin. His German Pavilion for the 1929 International Exposition contained the first of his Barcelona chairs. Another of his works was purposely built in the floodplain of the Fox River, the Farnsworth House. For 10 points, “less is more” was the maxim of this International Style architect and final director of the Bauhaus.

ANSWER: Ludwig Mies van der Rohe 
4. Nominal interest rates are said to lag behind this in the Mundell-Tobin effect. The built-in form of this effect is the base of the “triangle model” of it. This phenomenon can be due to a decrease in aggregate supply or an increase in aggregate demand. Milton Friedman argued that this concept was not linked inversely with unemployment, and in the 1970s, a high rate of this was linked with stagnation, discrediting the Phillips curve. The hyper- form of this phenomenon plagued Weimar Germany, and this effect can be “cost-push” or “demand-pull”. Measured by the Consumer Price Index, for 10 points, name this phenomenon in which a unit of currency is worth less over time.

ANSWER: inflation

5. Cities on this island include Balikpapan and Banjarmasin, and this island home to the Muller Mountains is directly south of a group called the Spratley Islands. One part of this island is ruled by the Sultan Hassanal Bolkiah, and this island is home to Mt. Kinabalu. Two regions on this island are Sabah and Sarawak, and its largest portion is known as Kalimantan. Separated by the Makassar Strait from Sulawesi, it is located north of the Java Sea and follows New Guinea as the largest island in its archipelago. For 10 points, name this island shared between Brunei, Malaysia, and Indonesia.

ANSWER: Borneo

6. The narrator of one poem by this author sees a “luminary clock against the sky” which “proclaimed the time was neither wrong nor right” while walking past “the furthest city light.” This author of “Acquainted with the Night” wrote a long poem that features Warren and Mary and the death of Silas, while another of his poems asserts “The land was ours before we were the land’s.” In addition to writing “Death of the Hired Man” and “The Gift Outright,” this author wrote a poem beginning “Two roads diverged in a yellow wood” that ends by noting “and that has made all the difference.” For 10 points, name this American poet of “The Road Not Taken” and “Mending Wall.” 

ANSWER: Robert Frost

7. The outcome of a sea battle in this war was reported to one side’s leader by his jester when his commanders were too frightened to report the loss. Another battle in this war resulted in the death of the blind John of Bohemia, whose three feather crest was then taken by an opposing commander who won his spurs that same day. One side in this war was greatly helped by mud in a battle where archers played an important role. For 10 points, name this war in which commanders such as Edward III, Edward the Black Prince, and Henry V fought at the Battles of Sluys, Crecy, and Agincourt, and which resulted in the near total expulsion of England from continental Europe by the French.

ANSWER: Hundred Years’ War [or Guerre de Cent Ans]

8. With partner Stanislas Wawrinka, this man won men’s doubles at the Beijing Olympics. A backpedaling shot this man hit against Andre Agassi in the 2005 US Open was described as one of his namesake “Moments” in an article about this player “as Religious Experience” by David Foster Wallace. Martin del Potro was only the second person to beat this man in a Grand Slam finals appearance, and this man missed the US Open finals for the first time in six years after his loss to Novak Djokovic in the 2010 semifinals. For 10 points, name this Swiss tennis player who won five straight US Opens and Wimbledons but lost the French Open three straight years to Rafael Nadal.
ANSWER: Roger Federer
9. Many of this religion’s main figures reached moksha on the mountain Sametshikharji. This religion performs sacred rituals at derasars, including reciting a mantra which ends “Padhamam Havei Mangalam,” the Navkar Mantra. Members of one sect of this religion sweep ahead of where they walk and wear cloth over the mouth to avoid trampling and ingesting insects, while another group does not even own clothes and are called “sky-clad,” or Digambaras. It was founded by its 24th “ford-maker”, or Tirthankara, Mahavira. For 10 points, name this Indian religion whose five core principles include ahimsa, the protection of all life.
ANSWER: Jainism
10. The Yukawa interaction for a fermion is proportional to the square of this property of the particle. This property of a black hole whose Compton wavelength and Schwarzschild radius are equal is named for Planck.  Using units where space and time are equal, the square of this property is equal to e squared minus p squared.  Particles are believed to gain this property through the Higgs boson. The gravitational force between two objects is proportional to the product of the objects' this.  For 10 points, name this quantity that is multiplied by acceleration to obtain force in Newton's Second Law of Motion, a measure of the amount of matter in an object often measured in grams.
ANSWER: mass
11. One ruler of this empire conquered a city by tricking a chief into celebrating peace out in the sea, leaving the city of Guarco undefended. This people made use of extended familial units called ayllus that were led by men known as curacas. This civilization had a system of runners known as chasquis that were able to run messages between cities. Members of this people were part of the forced labor system called mita. Records were kept by this empire on knotted and colored cords called quipu. For 10 points, name this empire that fell during a civil war between Huascar and Atahualpa that occurred at the same time as the arrival of Francisco Pizarro.

ANSWER: Inca civilization [or Tahuantinsuyu]

12. The phrase “twenty centuries of stony sleep” in this poem is a reference to William Blake, and it follows a line stating “the darkness drops again.” One image in this poem is a “shape with lion body and the head of a man” with “a gaze black and pitiless as the sun.” This poem recalls the troubling image of the “vast image out of Spiritus Mundi.” It contains the lines “The falcon cannot hear the falconer” and “Things fall apart, the centre cannot hold.” For 10 points, identify this poem beginning “Turning and turning in the widening gyre,” a poem about an apocalyptic event, written by William Butler Yeats.

ANSWER: “The Second Coming”

13. Jesus stands on the shore as his disciples cast nets from a boat in this artist’s Christ at the Sea of Galilee. Peacocks watch on the lower right as stars shoot out from the breast of Juno, where Hercules is suckling, in another of his painting. A descending figure in an orange cape intercedes to save a Christian from impending execution in a painting from his St. Mark series. Besides Origin of the Milky Way and Miracle of the Slave, he is most famous for a painting where angels surround a table that stretches diagonally away from the viewer. For 10 points, name this Venetian Renaissance painter of a celebrated Last Supper, with a name meaning little dyer.
ANSWER: Tintoretto [or Jacopo Comin; or Jacopo Robusti] 
14. Classes of these structures in bacteria include those associated with a repH gene and the pRN family.  The FLP-FRT recombination system derives from yeast's 2u one. BACs and YACs are based on these, but larger. Agrobacterium's Ti one is useful for genetic engineering. They commonly use rolling circle replication. The tra operon allows them to be transferred as part of the F factor. Infectious bacteria often have virulence ones along with ones containing genes for antibiotic resistance. They can be transferred through transformation or conjugation.  For 10 points, name these self-replicating extrachromosomal pieces of DNA that are often circular and found in bacteria.
ANSWER: plasmids

15. This President signed the Clean Air Act, which was then administered by his creation, the Environmental Protection Agency. This man earlier achieved national prominence for his role in the Alger Hiss case. While running for Vice President, this man claimed that the only political gift he accepted was a cocker spaniel named Checkers. This Vice President to Eisenhower started the strategy of Vietnamization. This man was the subject of an investigation aided by Mark Felt, which saw Woodward and Bernstein investigate this man’s role in the break-in to a Washington hotel. For 10 points, name this President who resigned in response to the Watergate scandal.
ANSWER: Richard Milhous Nixon
16. This thinker devised a thought experiment wherein two figures communicate using only the words block, pillar, slab, and beam. In one of his works, he made use of notation including the propositional variable p and the formal operation N of xi. This thinker introduced the aforementioned language-games in his Philosophical Investigations. Another of his works consists of seven propositions and their corollaries about the nature of facts and logic, including “The world is everything that is the case” and “What we cannot speak of, we must pass over in silence.” For 10 points, name this Austrian philosopher and author of Tractatus Logico-Philosophicus.
ANSWER: Ludwig Wittgenstein
17. One character in this work angrily writes notes in his copy of Don Juan, and another character in this work is called the “precious ideal.” In this poem, an overweight general called “the prince” marries another character, and another character in it is served by Guillot. The protagonist of this work is tricked into attending a ball celebrating another character's name-day, but danced too much with Olga. After a lack of preventative attempts from Zaretsky, Vladimir Lensky is shot through the heart in a duel by the title character, who was loved by Tatyana Larin. For 10 points, name this verse novel by Alexander Pushkin.

ANSWER: Eugene Onegin
18. A congruence class Zn (zee en) is a field if and only if n is a member of the set formed by these numbers The existence of arbitrarily long arithmetic progressions of them was proven by Green and Tao.  One theorem about these numbers states that a number a is congruent to a to the n mod n if n has this distinction. If n divides a times b and n is one of these, then n divides a or b according to Euclid's Lemma.  They can be found using the Sieve of Eratosthenes, and another result by Euclid states that there are an infinite number of them. For 10 points, name these positive integers which have no positive integer divisors other than themselves and 1.
ANSWER: prime numbers

19. The Presto finale of one piece by this composer consists entirely of triplets played in octaves, except for its last bar. A lone F is the only note belying the nickname of a piece that joins a work inspired by the November Uprising in this composer’s Opus 10. He wrote twenty-one works in a genre pioneered by John Field. His works in another genre include one with an Andante Spianato introduction and ones nicknamed “Heroic” and “Military”. For 10 points, name this composer of many Polonaises and Nocturnes, the “Funeral March” sonata, the “Black-Key” and “Revolutionary” etudes, and the Minute Waltz. 

ANSWER: Frederic Chopin
20. In Act III of this play, one starving character is tormented by a man who teases, “you shall have the mustard, or else you get no beef of Grumio.” In one subplot, Tranio convinces a woman he is rich while vying for her daughter's hand, and Hortensio abandons his pursuit of one character and marries a widow. At the opening of this play, Christopher Sly is intoxicated and tricked into thinking he is part of the nobility. In this work, Baptista forbids his eldest daughter to marry before Bianca, who eventually married Lucentio. For 10 points, name this comedy by Shakespeare centering on Petruchio's courtship of Katherina, the title figure.

ANSWER: The Taming of the Shrew

21. One god of this domain has four minor gods named after himself, one each for the cardinal directions. One figure got this from the Milky Way, which he kept in a jug; that was the Incan Ilyap’a. One figure who controlled this became associated with Atonatiuh and lived on his mountain with Chal·chi·huit·li·cue. That god, like Quetzalcoatl, had a mask of serpents, and was the object of great fear and child sacrifices for his propensity to wreak havoc on the Aztecs. For 10 points, name this weather phenomenon whose gods included the Mayan Chac and the Aztec Tlaloc and which is often seen in storms.

ANSWER: rain gods [accept thunder gods; prompt on “weather” until mentioned]

Bonuses:

1. This man’s works include The Elementary Structures of Kinship and the four-volume Mythologiques. For 10 points each:

[10] Name this French anthropologist and founder of structural anthropology who also wrote The Savage Mind.

ANSWER: Claude Levi-Strauss

[10] Levi-Strauss got much of his idea from this group of linguists which formulated the distinctive features hypothesis and whose members included Nicholas Trubetskoy and Roman Jakobson.

ANSWER: Prague school

[10] Structural linguistics had its roots in the work of Ferdinand de Saussure, who hypothesized lost laryngeals to account for vowel changes in this language family. Its members include Farsi, Lithuanian, and English.

ANSWER: Indo-European
2. By mass, titins make up the largest of these molecules, and they are produced in the ribosome. For 10 points each:
[10] Name these molecules made up of amino acids.
ANSWER: proteins 
[10] This is the name given to the amide bond between amino acids in proteins. 
ANSWER: peptide bond
[10] This protein group features three left handed alpha chains bound together into a coiled coil. It also contains hydroxyproline and is commonly found in connective tissue.
ANSWER: collagen
3. An abrupt background shift in this work suggests the elapse of time. For 10 points each:

[10] Name this early Renaissance fresco in which St. Peter gathers the title object from the mouth of a fish in the left half of the canvas, and gives it to a man in the right half. 

ANSWER: The Tribute Money 
[10] The Tribute Money is one of many works in the Brancacci Chapel by this Quattrocento Italian artist. 

ANSWER: Masaccio [or Tomasso di Ser Giovanni di Simone]
[10] Though the Bible states that they were clothed, the anguished central figures of this Masaccio fresco are nude, as they are driven forward by an angel armed with a sword. 

ANSWER: Expulsion from the Garden of Eden [or clear knowledge equivalents]
4. Identify some works of Henry Wadsworth Longfellow, for 10 points each.

[10] Longfellow wrote a poem about this Indian figure, the grandson of Nokomis. He lives “by the shores of Gitche Gumee” and has a wife named Minnehaha.

ANSWER: Hiawatha

[10] This poem subtitled “A Tale of Acadie” was written in dactylic hexameter and chronicles the title girl's search for her betrothed, Gabriel Lajeunesse.

ANSWER: Evangeline

[10] This Longfellow poem discusses a man who works “under a spreading chestnut tree” and has “large and sinewy hands.” Many like to watch the title figure and “hear the bellows roar” from his “flaming forge.”

ANSWER: “The Village Blacksmith”

5. This explorer discovered the island of New Caledonia and was the first to circumnavigate Antarctica. For 10 points each:
[10] Name this British explorer who led a trip to Tahiti on the HMS Endeavor before continuing on to make another discovery.

ANSWER: James Cook 
[10] Cook charted the eastern coastline of this landmass. In order to survey it, Cook had to navigate the Coral Sea, Straight of Torres, and the Great Barrier Reef.
ANSWER: Commonwealth of Australia 
[10] Cook first docked in Australia in this body of water in modern Sydney. It was originally named Stingray Harbor and was planned to be the first European settlement in Australia.
ANSWER: Botany Bay
6. This set of compositions was inspired by the composer's contact with Gypsy melodies during a concert tour with violin virtuoso Eduard Remenyi.  For 10 points each:

[10] Name this collection of 21 compositions for piano four-hands, of which the fifth in F-sharp minor was transcribed twice by Gyorgy Cziffra. 
ANSWER: Hungarian Dances 
[10] The Hungarian Dances were created by this German composer of A German Requiem, whose first symphony is sometimes called “Beethoven’s Tenth”

ANSWER: Johannes Brahms 
[10] This “boisterous potpourri of student drinking songs,” including Gaudeamus Igitur, was composed by Brahms in exchange for an honorary degree from the University of Breslau.

ANSWER: Academic Festival Overture 
7. Examples of these particles include photons and one named for Higgs. For 10 points each:
[10] Name this class of subatomic particles which have integer spin. This class is named for an Indian scientist.
ANSWER: bosons 
[10] Bosons are not governed by this principle, which states that no two fermions can exist in identical quantum states. It is more often stated as no two electrons can have an identical set of quantum numbers.
ANSWER: Pauli Exclusion Principle 
[10] Superfluidity was first observed when this element was cooled to the lambda point, approximately 2.17 Kelvin.  Landau won the 1962 Nobel in part for his pioneering work with its superfluid.
ANSWER: Helium
8. This poem notes “I would love you ten years before the Flood” and claims that “thou by the Indian Ganges side shouldst rubies find.” For 10 points each:

[10] Identify this poem which notes “Deserts of vast eternity” and “Time's winged chariot hurrying near,” that begins “Had we but world enough, and time.”

ANSWER: “To His Coy Mistress”

[10] This metaphysical poet wrote “A Horatian Ode” about Cromwell's return and four poems about a “Mower” in addition to writing “To His Coy Mistress.”

ANSWER: Andrew Marvell

[10] The speaker of this Marvell poem states, “Fair Quiet, have I found thee here” while in the title location, “so amorous as this lovely green,” and states “How vainly men themselves amaze to win the palm, the oak, or bays”

ANSWER: “The Garden”

9. This ruler said that “Paris is well worth a mass” before converting to Catholicism to become king. For 10 points each:

[10] Name this ruler who won the so-called war between two others with his name, and served as the first Bourbon king of France.

ANSWER: Henry IV of France [or Henry III of Navarre; prompt on Henry]

[10] Henry IV’s 1589 Edict of Nantes, which gave many rights to Huguenots, was revoked by this later edict issued by Louis XIV in 1685.

ANSWER: Edict of Fontainebleau
[10] This massacre before Henry IV’s reign occurred shortly after the marriage of Henry IV in Paris and resulted in the killing of thousands of Huguenots in and outside of Paris.

ANSWER: St. Bartholomew’s Day Massacre

10. Answer some stuff about a Greek mythological figure, for 10 points each.
[10] This son of the king of Phoenicia set out to find his sister Europa after her abduction, but ceased this quest after consulting with the oracle of Delphi. He is also credited with bringing the Phoenician alphabet to Greece.
ANSWER: Cadmus
[10] Cadmus was told by the oracle of Delphi to follow a cow and build a town on the spot where it laid down, leading to the founding of this city, later ruled by Oedipus, one of whose sons was among the “Seven Against” it.
ANSWER: Thebes [or Thebai]

[10] Cadmus’ father Agenor was a ruler of this Phoenician capital famous for its purple dye.

ANSWER: Tyre [or Tyros]

11. These are formed from the Fukuyama coupling. For 10 points each:
[10] Name this functional group in which a carbonyl is bonded to two other carbons.
ANSWER: ketone
[10] This simplest ketone is found in nail polish remover and is used to rinse laboratory glassware.

ANSWER: acetone
[10]  Ketones and aldehydes can be distinguished using this test, in which a diamminesilver complex will create a silver mirror in the presence of an aldyhyde. 
ANSWER: Tollens test

12. Three characters enter a performance of a communist propaganda play in this opera, which ends as one character asks “how much of what we did was good?” For 10 points each:

[10] Name this opera featuring the “Chairman Dances” foxtrot and recounting a certain American president’s visit.  

ANSWER: Nixon in China 
[10] This American composer of Nixon in China wrote an opera recounting a passenger’s death during a hijacking, his The Death of Klinghoffer.

ANSWER: John Adams
[10] This Adams composition written for choir, vocal soloists, and orchestra, sets poems by John Donne and Emily Dickinson.
ANSWER: Harmonium  
13. In Book VIII of this work, the central character begs for aid from Evander, who sends his son Pallas and an army with him. For 10 points each:

[10] Identify this epic poem of ancient Rome written by Vergil which tells of the journey of a Trojan prince who flees from Troy with his father Anchises.

ANSWER: Aeneid

[10] The second half of the Aeneid focuses on the war in Italy between Aeneas and this leader of the Rutulians, whom Aeneas kills while wearing the belt of Pallas.

ANSWER: Turnus

[10] In addition to writing the Aeneid and the Eclogues, Vergil authored this four book poem modeled on the Works and Days of Hesiod focusing on farming, agriculture, and beekeeping.

ANSWER: Georgics

14. This company bought 22 of the 26 companies available in its field of industry during the “Cleveland Massacre.” For 10 points each:

[10] Name this company that was attacked by Henry Demarest Lloyd in his article, “Story of a Great Monopoly,” and his book, Wealth Against Commonwealth.

ANSWER: Standard Oil Company

[10] This man was responsible for the organization of the Standard Oil Company and he became the richest man in America around the turn of the twentieth century.

ANSWER: John Davison Rockefeller
[10] Rockefeller and Standard Oil were both attacked by this muckraker in her book The History of the Standard Oil Company.

ANSWER: Ida Minerva Tarbell
15. This character is the son of a naval officer, and a fire attempting to drive him out of hiding is the one that signals a rescue ship at the end of the novel in which he appears. For 10 points each:

[10] Identify this character who sets up a camp and helps find a conch shell in a 1954 novel.

ANSWER: Ralph

[10] Ralph is antagonized by Jack in this novel centering on a group of school age children who become stranded on an island in the Pacific Ocean. It was written by William Golding.

ANSWER: Lord of the Flies

[10] This quiet character has his own meditative spot and hallucinates about a pig's head on a stick. When he goes to tell the boys that he found a dead parachutist, he is murdered.

ANSWER: Simon

16. Answer the following questions about female candidates for the US Senate, for 10 points each.
[10] This wife of WWE impresario Vince failed in her attempt to challenge Richard Blumenthal for Chris Dodd’s vacated seat in Connecticut.
ANSWER: Linda Edwards McMahon
[10] Harry Reid’s defeated this anti-Department of Education crusader in Nevada. She backtracked on her claims that marijuana should be legalized and claimed congress was infiltrated by domestic enemies.

ANSWER: Sharron Angle
[10] This candidate and former Hewlett-Packard executive aired the “Demon sheep” ad against primary opponent Tom Campbell, before losing to incumbent democrat Barbara Boxer in the general election.
ANSWER: Carly Fiorina
17. The Office of Shinto Worship was formed during this government as part of the establishment of State Shinto, and a failed breakaway Republic of Ezo was formed by those loyal to the previous government. For 10 points each:
[10] Name this westernizing government which was formed after the young emperor of Japan took a regnal name meaning “enlightened rule” and which moved the capital to Tokyo.
ANSWER: Meiji Restoration [or Meiji Ishin]
[10] This document outlining the Meiji government’s goals promised an end to the frozen social and employment structure and the replacement of “evil customs.”
ANSWER: Imperial Charter Oath of Five Articles [or Gokajo no Goseimon]
[10] The Meiji Restoration ended the rule of this tent government that had established its capital at Edo. Its founder won the 1600 Battle of Sekigahara, and it was the last shogunate of Japan.
ANSWER: Tokugawa shogunate [or Tokugawa bakufu]

18. Multiplying a matrix by its inverse yields this matrix.  For 10 points each:

[10] Name this matrix with ones along the main diagonal and all other entries set to zero.

ANSWER: identity matrix

[10] Finding the solutions of a system of linear equations can be accomplished by using this process named after a German mathematician to reduce the corresponding matrix to row echelon form.

ANSWER: Gaussian Elimination

[10] For a vector space, this is the linearly independent spanning set of that space. That means that any vector in the space has a unique representation in terms of a linear combination of vectors from this set.

ANSWER: basis

19. For a long time, this Scot was best known for his six-volume History of England. For 10 points each:

[10] Name this author who included Pamphilius and Hermippus in his Dialogues concerning Natural Religion.

ANSWER: David Hume

[10] This Hume work begins by defining “moral philosophy” and concludes that since we cannot have certain knowledge via cause and effect, all our “reasonings” about matter and fact and real existence are suspect.
ANSWER: An Enquiry concerning Human Understanding
[10] Hume adhered to this theory of knowledge which asserts that we have no source of knowledge in a subject area other than sense experience, in contrast to rationalism.
ANSWER: empiricism
20. Answer the following about some European ethnic groups, for 10 points each.

[10] Sometimes called “Vascos” or “Euskaldunak,” this group lives in a region containing the cities of Vitoria-Gasteiz, San Sebastian, and Bilbao. They are indigenous to the Pyrenees Mountains of Spain.
ANSWER: Basques

[10] This other ethnic group has an autonomous community in northeastern Spain. Their language lacks rising dipthongs, and the region home to these people has its capital at Barcelona.

ANSWER: Catalans [accept Catalonia]

[10] This migrant people sometimes live in bands called “vitsas” and have chieftains called “voivodes.” They are sometimes referred to by the pejorative term “Gypsies.”

ANSWER: Roma [accept Romani]

21. One can use completing the square to find a formula that gives the roots of this type of equation. For 10 points each:

[10] Name this type of polynomial equation that has two solutions.

ANSWER: Quadratic equation

[10] Numbers of this type cannot be the solution to a quadratic or any other polynomial equation with rational coefficients. Examples include Liouville's constant and pi.

ANSWER: transcendental number

[10] Real numbers, most of which are transcendental, can be constructed using this technique that partitions the rational numbers into two collections such that all members of the first collection are less than those in the second, and there is no greatest element.

ANSWER: Dedekind cut

